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Please read

"has 2" = has at least 2
“"can force 2" = can force at least 2

"has 1" = has 1 and only 1

"can force 1" = can force 1 and only 1

"cannot force 1" = cannot force at least 1

“"cycle elsewhere" = the string cannot be captured due to a cycle, of which it is no part
"can force 2" = can force at least 2

"is 1 forced" = is 1 of at least 2 forced

"every single (E)" = Ko-Pass for every single Ko

"for all & both" = Ko-Pass for all Ko for both

"none (N)" = no Ko-Pass

“"N", "E" in column "successor" refer to sub-headers of column "Ko-Pass"
"2" in column "Ko-Pass" = string can force at least 2 taboo-points
"C" in column "Ko-Pass" = string cannot be captured due to a cycle

"dead @ commentary" refers to the result given in the J1989 commentary



